

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SNP 4078A

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRT BUMPER	DISTORTED	2,390.10	2,390.10
2	FRT BUMPER SIDE RETAINER @\$175.80	NOT NECESSARY	351.60	-
2	FRT BUMPER SIDE BRACKET @\$156.80	NOT NECESSARY	313.60	-
1	FRT BUMPER LOW CENTRE GRILLE	NOT NECESSARY	357.00	-
1	FRT BUMPER UNDER DUST COVER	TORN	490.00	490.00
2	FRT BUMPER LOW SIDE GRILLE @\$328.00	O/S CRACKED	656.00	328.00
2	FRT BUMPER SIDE AIR GUIDE @\$241.00	NOT NECESSARY	482.00	-
1	FRT BUMPER TOW COVER	DISTORTED	145.00	145.00
1	FRT BUMPER REINFORCEMENT COVER	NOT NECESSARY	310.00	-
1	FRT BUMPER REINFORCEMENT COVER BRACKET	NOT NECESSARY	122.00	-
1	FRT BUMPER TOP CENTRE RETAINER	NOT NECESSARY	403.00	-
1	FRT BUMPER REINFORCEMENT	DISTORTED	1,233.00	1,233.00
1	FRT NUMBER PLATE GARNISH	NOT NECESSARY	185.60	-
2	FRT BUMPER REINFORCEMENT GASKET @\$113.00	NOT NECESSARY	226.00	-
1	FRT RADIATOR GRILLE	SMASHED	2,406.00	2,406.00
1	FRT JAGUAR LOGO	NECESSARY	204.00	204.00
4	FRT BUMPER PARKING SENSOR @\$501.00	DAMAGED (1PC ONLY)	2,004.00	310.00
1	FRT BUMPER PARKING SENSOR WIREHARNESS	NOT NECESSARY	345.00	-
4	FRT BUMPER PARKING SENSOR SEAL @\$17.00	NECESSARY (1PC ONLY)	68.00	17.00
1	FRT BUMPER FORWARD CAMERA	NOT NECESSARY	852.00	-
2	FRT AC AIR GUIDE UPP @\$150.00	O/S TORN	300.00	150.00
2	FRT AC AIR GUIDE LOW @\$150.00	NOT NECESSARY	300.00	-
1	FRT AC AIR GUIDE LOW CENTRE	CRACKED	166.00	166.00
1	FRT AC ELECTRONIC AIR GUIDE	NOT NECESSARY	822.00	-
1	FRT BONNET	DISTORTED	1,822.10	1,822.10
1	FRT BONNET INSULATOR	CRUMPLED	825.60	825.60
1	FRT BONNET LOCK	DAMAGED	170.00	170.00
1	FRT BONNET LOCK BRACKET	NOT NECESSARY	300.00	-
1	FRT BONNET HINGES	NOT NECESSARY	105.90	-

Report Ref No. CS/LIP24100495/Avh3e2(N)



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

ty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRT SUPPORT PANEL	DISTORTED	1,245.60	1,245.60
1	FRT RADIATOR SUPPORT PANEL TOP	DISTORTED	772.00	772.00
1	FRT RADIATOR SUPPORT PANEL LOW	NOT NECESSARY	643.00	-
	FRT RADIATOR SUPPORT PANEL LOW BRACKET @ \$146.00	NOT NECESSARY	292.00	-
1	FRT RADIATOR	DISTORTED	1,585.90	1,585.90
2	FRT RADIATOR FAN ASSY @\$1645.30	CRACKED	3,290.60	3,290.60
2	FRT HEADLAMP PANEL LOW @\$402.00	DISTORTED	804.00	804.00
2	FRT HEADLAMP @\$5272.00	CRACKED	10,544.00	10,544.00
2	FRT HEADLAMP BI-XENON CONTROL UNIT @\$896.00	N/S DENTED	1,792.00	896.00
2	FRT HORN @\$182.00	CRACKED	364.00	364.00
2	FRT HEADLAMP WASHER NOZZLE @\$346.00	NOT NECESSARY	692.00	-
1	FRT HEADLAMP WASHER NOZZLE HOSE	NOT NECESSARY	255.00	-
1	FRT AC CONDENSER	DISTORTED	1,658.00	1,658.00
2	FRT AC CONDENSER LOW BRACKET @\$147.00	DISTORTED	294.00	294.00
2	FRT AC CONDENSER UPP BRACKET @\$148.00	DISTORTED	296.00	296.00
2	AIR BAG SENSOR @\$217.00	ACTIVATED	434.00	434.00
1	AIR BAG CONTROL UNIT	ACTIVATED	1,456.00	1,456.00
1	FRONT DASHBOARD	TORN	2,456.90	2,456.90
1	FRONT DASHBOARD AIRBAG	ACTIVATED	1,685.20	1,685.20
1	FRONT STEERING AIRBAG	ACTIVATED	1,589.30	1,589.30
1	FRT DRIVER SEAT BELT	ACTIVATED	1,083.00	1,083.00
1	FRT PASSENGER SEAT BELT	ACTIVATED	1,083.00	1,083.00
1	RR PASSENGER SEAT BELT RH	ACTIVATED	1,072.00	1,072.00
1	RR PASSENGER SEAT BELT LH	ACTIVATED	1,072.00	1,072.00
2	FRONT FENDER @\$1045.20	N/S BUCKLED	2,090.40	1,045.20
2	FRONT FENDER INNER SHIELDS @\$235.90	NOT NECESSARY	471.80	-
	LESS 10% DISCOUNT		-5,737.72	-4,538.35
			51,639.48	40,845.15
	SPECIAL NETT ITEMS			
1	FRT NUMBER PLATE WITH CASING (SN)	DISTORTED	60.00	60.00
1	RADIATOR COOLANT (SN)	NECESSARY	80.00	50.00
1	FRT BUMPER CLIP (SN)	NECESSARY	60.00	50.00

Report Ref No. CS/LIP24100495/Avh3e2(N)



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRT GRILLE CLIP (SN)	NECESSARY	60.00	30.00
1	FRT FENDER INNERSHIELD CLIP (SN)	NOT NECESSARY	60.00	-
1	FRT BONNET INSULATOR CLIP (SN)	NECESSARY	60.00	30.00
			380.00	220.00
	<u>LABOUR</u>			
	TO DISMANTLE / RENEW THE ACCIDENT DAMAGED PORTION, TO PANEL BEATING, RESHAPE, STRAIGHTEN, ORIENTATE AND ALIGN REPAIR / REPLACEMENT PARTS.		2,000.00	1,200.00
	CARRY OUT SPRAY PAINTING ON ACCIDENT AFFECTED AREA.		1,800.00	750.00
	TO CONDUCT ANTI RUST OF UNDER CARRIAGE TUFF COAT.		100.00	50.00
	TO DISCONNECT WIRE HARNESS OF ELECTRICAL COMPONENT TO FACILITATE REPAIRS, RECONNECT AND CHECK ELECTRICAL FUNCTION AFTER REPAIR.		100.00	50.00
	TO REMOVE AND REFIT AIRCON CONDENSOR, VACUUM, REFILL AND CHECK AIR CON GAS SYSTEM.		120.00	60.00
	TO REMOVE AND REFIX RADIATOR AND CONDUCT PRESSURE TEST.		100.00	60.00
	TO CONDUCT RESET OF ENGINE LIGHT ON.	NOT NECESSARY	300.00	-
	TO REFOCUS HEADLAMP.	NOT NECESSARY	120.00	-
	TO REMOVE AND REFIT FRONT SENSOR.		100.00	50.00
	REMOVE & REPLACE FRONT DASHBOARD.		500.00	250.00
	REMOVE & REPLACE SEATBELTS.		400.00	180.00
	REMOVE & REPLACE SRS SYSTEM.		400.00	300.00
	TO CHECK DIAGNOS PROGRAM CODING ON SRS FAULTY CODE.		600.00	200.00
	TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT / CONTROL UNITS, RESET MEMORIES TO SPECIFICATION ETC.	NOT NECESSARY	300.00	-
			6,940.00	3,150.00
	GRAND TOTAL		58,959.48	44,215.15



Page No.:4 of 4

RECOMMENDED COST OF LUMP SUM REPAIRS		20,300.00
(TO ITS PRE-ACCIDENT CONDITION)		·

Report Ref No. CS/LIP24100495/Avh3e2(N)

MARKET VALUE: \$47,000.00 (EST)-LTA REIMBURSEMENT VALUE: \$26,668.00=NETT VALUE: \$20,332.00



ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.